
 

 

 
ΑΠΑΝΤΗΣΗ 

Α)  β 

Β)   

𝑥𝐴 = 6 ⋅ 𝑡 ⇒ 𝑢𝐴 = 6 𝑚/𝑠 

𝑥𝐵 = 2𝑡2 ⇒ 𝑥𝐵 =
1
2
⋅ 4𝑡2, ά𝜌𝛼  𝑎𝐵 = 4 𝑚/𝑠2 

𝑢𝐴 = 𝑢𝐵 ⇒ 𝑢𝐴 = 𝑎𝐵 ⋅ 𝑡 ⇒ 6 = 4𝑡 ⇒ 𝑡 = 1,5 𝑠 
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ΑΠΑΝΤΗΣΗ 

Α)  γ 

Β)  Στο διάγραμμα  F-x  το εμβαδόν δίνει 𝑊𝐹 > 0.   

Άρα από ΘΜΚΕ:  𝛫𝜏𝜀𝜆 − 𝛫𝛼𝜌𝜒 = 𝑊𝐹 ⇒ 𝐾𝜏𝜀𝜆 > 𝛫𝛼𝜌𝜒 

 

  



 

 
ΑΠΑΝΤΗΣΗ 

Δ1)  

𝛼⃗ =
𝛥𝑢�⃗
𝛥𝑡

⇒ 𝑎 =
12 − 2

2
= 5 𝑚/𝑠2 

Δ2) 

𝑃𝜇 =
𝑊𝐹

𝑡
⇒ 𝑊𝐹 = 98 ⋅ 2 ⇒ 𝑊𝐹 = 196 𝐽 

Δ3) 

𝛥𝑥 = 𝑢0𝑡 +
1
2
𝑎𝑡2 = 2 ⋅ 2 +

1
2
⋅ 5 ⋅ 22 = 4 + 10 = 14 𝑚 

𝑊𝐹 = 𝐹 ⋅ 𝛥𝑥 ⇒ 𝐹 =
196
14

= 14 𝑁 

Δ4) 

  



 

�
𝛴𝐹 = 𝑚𝑎 ⇒ 𝐹 − 𝑇 = 𝑚𝑎 ⇒ 𝐹 − 𝜇𝛮 = 𝑚𝑎

𝛴𝐹𝑦 = 0 ⇒ 𝑁 = 𝐵 = 𝑚𝑔
� ⇒ 𝐹 − 𝜇𝑚𝑔 = 𝑚𝑎 ⇒ 𝐹 = 𝑚(𝜇𝑔 + 𝑎) ⇒ 

𝑚 =
14

2 + 5
⇒ 𝑚 = 2 𝑘𝑔 

 

  


